
VICE DIMENSIONS
& PARTS DRAWINGS



Workshop Vice Dimensions

All Dimensions in millimeters

Part No. A B C D E F G H I J

EC-EWV100 280 280 138 160 103 63.5 165 Ø 11 115 70



Workshop Vice Parts Diagram

Product Codes: EC-EVW100

A Stationary Body (Back Jaw) D Jaw Screws G Main Screw J Moving Body (Front Jaw)

B Anvil E Round Pin 3x35mm H Spring K Nut Pin

C Jaw Plates F Tommy Bar I Washer L Nut



Workshop Swivel Vice Dimensions

All Dimensions in millimeters 

Part No. A B C D E F G H I J

EC-EWV125S 319 319 141 160 127 60 155 Ø 11 155 75

EC-EWV150S 380 380 165 181 152.4 68 190 Ø 13 175 95



Workshop Swivel Vice Parts Diagram

Product Codes: EC-EVW125S & EC-EVW150S

A Stationary Body (Back Jaw) D Tommy Bar G Washer J Swivel Base Plate M Nut

B Jaw Plates E Main Screw H Horseshoe Washer K Swivel Base Lock Bolts N Nut Pin

C Jaw Screws F Spring I Moving Body (Front Jaw) L Swivel Base Lock Handles O Anvil Plate



Engineer’s Vice Dimensions

All Dimensions in millimeters 

Part No. A B C D E F G H I

EC-EMV1 264 264 122.3 132 75 46 152 Ø 9 80

EC-EMV3 330 330 156.4 164 100 60 190 Ø 11 103

EC-EMV5 408 408 170.6 193 125 72 220 Ø 13 120

EC-EMV6 466 466 196 223 150 84 232 Ø 13 142

EC-EMV8 552 552 246 257 200 102 257 Ø 13 160



Engineer’s Vice Parts Diagram

Product Codes: EC-EMV1, EC-EMV3, EC-EMV5, EC-EMV6 & EC-EM8

A Stationary Body (Back Jaw) E Main Screw I Moving Body (Front Jaw)

B Jaw Plates F Spring J Nut

C Jaw Screws G Washer K Small Washer for Nut Bolt

D Tommy Bar H Horseshoe Washer L Nut Bolt



Engineer’s Vice Swivel Base Dimensions & Parts Diagram

All Dimensions in millimeters 

Part No. A B C D

EC-EMVSB-1 152 134.5 Ø 9 Ø 130

EC-EMVSB-3 194 169.5 Ø 11 Ø 169

EC-EMVSB-5 228 199 Ø 13 Ø 196

EC-EMVSB-6 260 228 Ø 13 Ø 224

EC-EMVSB-8 286 256 Ø 13 Ø 246

Suited to: EC-EMV1, EC-EMV3, EC-EMV5, EC-EMV6 & EC-EM8

A Swivel Base Plate

B Swivel Base Lock Bolts

C Swivel Base Lock Handles



Offset Vice Dimensions

All Dimensions in millimeters 

Part No. A B C D E F G H I J

EC-EOV150 470 470 190 215 180 95 260 Ø 13 105 105



Offset Vice Parts Diagram

Product Code: EC-E0V150

A Stationary Body (Back Jaw) E Main Screw I Round Pin 3x35mm

B Jaw Plates F Spring J Moving Body (Front Jaw)

C Jaw Screws G Washer K Round Pin 8x35mm

D Tommy Bar H Round Pin 4x35mm L Nut Bolt



Multi Purpose Vice Dimensions

All Dimensions in millimeters 

Part No. A B C D E F G H I J

EC-EMPV-5 419 410 155 225.5 125 67 232 Ø 13 173 123



Multi Puropse Vice Parts Diagram

Product Codes: EC-EMPV-5

A Moving Body (Front Jaw) E Swivel Base Lock Handles I Rotation Collar M Inner Cut Jaw Screws Q Washer

B Jaw Plates F Anvil J Square Toe Bolts N Inner Cut Jaw R Main Screw

C Jaw Screws G Screw Cap K Swivel Base Plate O Outer Cut Jaw Screw S Tommy Bar

D Stationary Body (Back Jaw) H Screw Cap Bolts L Body Swivel Lock Handle P Outer Cut Jaw T Nut & Locking Pin



Woodworking Vice Dimensions

All Dimensions in millimeters 

Part No. A B C D E F G H I J K L

EC-EWWPS7 384 385 178 163 205 83 190 Ø 12,U R6*17 160 75 20 160

EC-EWWQR7 397 399 178 159 203 79 190 Ø 12,U R6*17 160 75 20 160

EC-EWWQR9 477 480 197 197 254 104.9 241.3 Ø 12.7,U R7.6*21.7 205 85 35 190



Plain Screw Woodworking Vice Parts Diagram

Product Codes: EC-EWWPS7

A Main Screw E Moving Body (Front Jaw) I Moving Body (Front Jaw)

B Finger Bolt F Stationary Body (Back Jaw) J Cotter Pin

C Finger Washer G Guide Rods K Tommy Bar

D Vice Dog H Nut L Main Screw Pin



Quick Release Woodworking Vice Parts Diagram

Product Codes: EC-EWWQR7, EC-EWWQR9

A Main Screw E Flat Coil Spring I Half Nut M Washer Q Finger Bolt

B Lever & Retaining Rod F Nut J Torsion Bar N Stationary Body (Back Jaw) R Main Screw Pin

C Lever Screw G Nut Housing Hex Bolts K Guide Rods O Vice Dog S Tommy Bar

D Moving Body (Front Jaw) H Nut Housing L Back Stop P Finger Bolt Washer



Hinged Pipe Vice Dimensions

All Dimensions in millimeters 

Part No. A B C D E

EC-EHPV2 226 176 110 90 40

EC-EHPV2-1/2 260 206.5 145.5 115 52

EC-EHPV3-1/2 322 252 167.5 140 75

EC-EHPV6 449 399.5 233 220 110



Hinged Pipe Vice Parts Diagram

Product Codes: EC-EHPV2, EC-EHPV2-1/2, 
EC-EHPV3-1/2, EC-EHPV6

A Main Screw & Tommy Bar

B Yoke

C Crosshead

D Base

E Hook

F Lower Jaws

G Upper Jaw

H Yoke Cap Screws

I Yoke Hex Nuts

J Jaw Cap Screws

K Jaw Hex Nuts

L Collar Cap Screws

M Collar Hex Nuts



Drill Press Vice Dimensions

All Dimensions in millimeters 

Part No. A B C D E F G H

EC-EDPV-4 220 334.3 166 59 114.3 29 76 R7*70



Drill Press Vice Parts Diagram

Product Codes: EC-EDPV-4

A Spindle & Handle 

B Jaw Plates

C Jaw Screws

D Outer Cut Jaw with Screws

E Stationary Body (Back Jaw)


